Converting Binary to Denary Numbers: Workbook
Example 1: binary number = 00000011
	128
	64
	32
	16
	8
	4
	2
	1



	0
	0
	0
	0
	0
	0
	1
	1



	128 * 0
	64 * 0
	32 * 0
	16 * 0
	8 * 0
	4 * 0
	2 * 1
	1 * 1



	0
	0
	0
	0
	0
	0
	2
	1



	Answer
	2 + 1 = 3




Example 2: binary number = 00001011

	128
	64
	32
	16
	8
	4
	2
	1



	0
	0
	0
	0
	1
	0
	1
	1



	128 * 0
	64 * 0
	32 * 0
	16 * 0
	8 * 1
	4 * 0
	2 * 1
	1 * 1



	0
	0
	0
	0
	8
	0
	2
	1



	Answer
	8 + 2 + 1 = 11



Task 1: binary number = 00001111

	128
	64
	32
	16
	8
	4
	2
	1



	0
	0
	0
	0
	1
	1
	1
	1



	128 * 0
	64 * 0
	32 * 0
	16 * 0
	8 * 1
	4 * 1
	2 * 1
	1 * 1



	
	
	
	
	
	
	
	

	Answer
	


Task 2: binary number = 00101010

	128
	64
	32
	16
	8
	4
	2
	1



	0
	0
	1
	0
	1
	0
	1
	0


	128 * 0
	64 * 0
	32 * 1
	16 * 0
	8 * 1
	4 * 0
	2 * 1
	1 * 0



	
	
	
	
	
	
	
	

	Answer
	


Task 3: binary number = 01011011
	128
	64
	32
	16
	8
	4
	2
	1



	0
	1
	0
	1
	1
	0
	1
	1


	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 4: binary number = 00101101
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 5: binary number = 11001100
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 6: binary number = 11100010
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 7: binary number = 11111111
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 8: binary number = 00000000
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 9: binary number = 10000101
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 10: binary number = 00100111
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 11: binary number = 11101110
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 12: binary number = 01010101
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
	


Task 13: binary number = 11010100
	128
	64
	32
	16
	8
	4
	2
	1



	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Answer
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